Review topics by number
1 — 3 Regular equations
4 — 5 Absolute value
6 — 9 Inequalities
10 — 13 Clearing the fraction
14 — 17 Clearing the decimal
18 — 19 Solving Quadratics by factoring
20 — 24 Solving for variables in formulas
25 — 30 Rational equations
31 Work problem
32 — 33 Quadratic Formula
34 — 37 Solving trinomial quadratics factoring
38 — 40 Solving quadratics by completing the square
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Solve fory
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‘Solve for x
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Solve for x, list restrictions"‘
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Solve for x, list restrictions
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Solve for x, list restrictions
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Solve for x, list restrictions
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Solve for x, list restrictions

3x
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31.

Solve thg Work problem.

" Two different pipes fill a swimming pool at
' acity pool. When the hot is turned on, it
' can fill the pool in 16 hrs. When the hot
" and cold are turned on together, the pool is
' filled in 6 hrs. How long does it take to fill
! the pool using just the cold water? Express

' your answer in hrs. and min.







32.

Solve the quadratic equation using the
—b++/b? —4dac
- 2a

quadratic formula x =

3x° +5x=06
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Solve the quadratﬁc equation using the
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quadratic formula x =

2x* +10x-5=0
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Solve for x by factoring

2x° +7x =4
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35.

Solve for x by factoring

3x* —10x—-8=0






Solve for x by factoring

- 36.

456x* —34x-6=0
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37.

Solve for x by factoring

289x° +68x + 4 = ()
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38.

e for ¢ by completing the square

3t +12t -2 =0

nd to thousandths place
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39.

slve for x by completing the Square

5% —10x+3=0

ound to thousandths place







40.

‘Solve for x by completing the séuare
10x* +12x-5=0

Round to thousandths pla-ce






